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G)

Present perfect Simple D) aldl) £ jliaal)

Affirmative (+): has /have +V.3

Negative (-): has not / have not +V.3
Question (?): has / have + Subject + V.3 ?
Uses:

1- To express finished activities at unspecific time in the past, but their results are
still there at present.
B (335n 5a) Aaild ) 3 Y Leailns f V) e alall 8 Aggaiia 3dail 5 Jladl (e Gl (e 311 138 axdiu
_alall &8 ol
1) I have cut my finger. It's bleeding now. (cut)

2) She has already prepared for her presentation. (prepare)

2- To talk about achievements: Sl e Cuaall GllaS e 311 1o aadiing
e.g.
1) The student has already finished his project. (finish)

2) | have just done my homework. (do)

Ga) At e ey ¢(eXperiences) <l ge Enaall vie el 138 aadius W 8L paall e *
_g_s..abd\ JPLIRRES
3- With stative (non-continuous) verbs: love, like, prefer, hate, dislike, see, have (own),
think (believe), know, understand, need, want, remember, realize, be, [start, begin]...etc.
(-ing =) dais Y ) 5 jeiwall ye JladY) o
e.g.
1. I have known him since 2000. (know)

2. Sami has had this mall for 10 years. (have)

Key words: (JNal) <l igall

already, yet, just, since, for, lately, recently, ever, so far, up to now, up till now, still,
once, twice, (five) times, so (he) can.
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[0)
[ Present Perfect Continuous il sl £ jLaal)

Form:
(+): has/ have + been + V-ing
(-): has not / have not + been + V- ing
(?): has / have + Subject + been + V-ing?
Uses:
1- Unfinished activities —4xgiia p& Cilaal
(e o Jutnad) (8 et Cogus g ¢ pualall i gl il g ¢l B i)

e.g.
1. I have been waiting for Ali for four hours but he hasn’t come yet. (be, wait)
2. She has been working on her project. | think she needs more time. (be, work)

2- Activities from the recent past which have visible consequences at present. ‘
4l el 5 (activity)cadl (Jo 58l (S5 3 allall Ll se 5 L U1 s qu Bl bl & Glaal
o) AUl ¢ jliadl) CaMay (result)iagill e ST bl

e.g.
1. They’re out of breath. They have been running for a long time. (be , run)
2. He is exhausted. He has been cleaning his room all night. (be, clean)

Key words:  (<lsigall) Javall
all day, all night, all morning, all evening, all the time, for, since, for (five) years now

=AY sadll o ul 6391 i JLAY JSE ¢S 0 B3 s laial B Batad) s sTan Aegadligale o
Aay) die (L) cllal) seluy 53 Y « (be, V)

[0

L) palal)

[ Past Simple
|

Form: (+): V.2
(-): » (be):  was not/were not
» (Others): did not + baseform (infinitive)

(?):» (be): was / were + Subject + complement?
» (Others): did + Subject + baseform + complement?

Uses:
Ldle Y g ¢ malall A a0 B gl g lian Elaal ¢ Enaall sie bl alall (1) addiey m
raall) 3 pud) (pa) o a1 G SAL puaal) Gag gy palall
Ao My A8ial) 5 gal) 2 Bgalll s
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e.g.

1- | watched TV yesterday. (watch)

2- The First World War broke out in 1914. (break out)
3- She was not sad last night. (not, be)

cealall A ) S gal g cilile (e duaal) e addiun g LS
1- 1 usually went to Agaba on Fridays when | was younger. (go)
2- Samer always studied hard when he was a student in the university. (study)

Key words: (J8¥all) <l pdigal)
yesterday, last (week, month,...etc), ago, in the past, in (1991), when | was a
child, in my childhood, when I was younger, thus.

[ Past Perfect  alll (alal)
|

Form:

(+): had +V.3

(-):had not + V.3

(?): had +Subject+V.3+complement?

Uses:
chad +V.3 Gl Cuzale a38Y1 (e 30 ) sS8 aalall A (Gan) (jlie ) Gaasy Lavie ol alall aadius
V.2 Uas Guale (ualall a1 sl el

e.g.
1- | had done my homework before | went shopping. (do)

2- After he had bought a car, someone stole it. (buy)

3- The man realized that he had lost his wallet in the market. (lose)

Key words: (J¥all) <l pdisall
before, after, by the time..., by the end of last year, until, as soon as, because, (realized).

* S+ (had+V.3) before + S+V.2
*S+V.2after+S+had+ V.3

(subject) Je&h ) a3 (S) Ak gala*

Ao My A8ial) 5 gal)
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1. The students of 12" grade have hard all year. (be, study)

2. Sultan me some money last week. (lend)

3 already his homework. (finish)

4. Before Mabher got there, all the guests

5 recently my old house. (sell)

6 the chickens yesterday. (feed)

7 this firm three years ago. (found)

8. already a whole course in this centre. (teach)

9. i for her party all day. (be, prepare)

10. This device ............ me 100 dollars yesterday. (cost)

11. Fawwaz got sad because he never this game before. (lose)

12. Sami and Ali have for a few weeks now. (be, train)
TOEFL test, so he can go abroad next month. (pass)

14. After Mazen had finished his project, he TV. (watch)

15. They have for 50 minutes now. (be, run)

Q1: Choose the suitable item from those given to complete each of the following
sentences: (since, for, from)

1- I haven’t been in Agaba

2- Salma has worked hard the whole year.

3- She hasn’t phoned her sister

4- 1t is a year | saw Miral.

5- It’s ages | visited you.

6- | haven’t seen Amal

7- She hasn’t eaten anything this morning.

8- She’s lived in the countryside

9- I’ve only known her a few weeks.

10- He has been smoking a long time. No wonder he coughs too much.

Q2: Correct the verbs between brackets:
1 recently studying physics. (start)
horror films all night. (be, watch)
her report. (submit)
on the Internet all day. (be, search)
her father about the problem. (tell)
football all morning. (be, play)
a high score in IELTS test. (get)
TV all night. (be , watch)
two short stories so far. (write)
their home all day. (be, clean)
before she went shopping. (finish)
an experiment five days ago. (do)
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PERIBT i
last year. He had worked for the same company all his life.
(retire) »2011(W)
her homework three hours ago. (finish)  »2011 (S)
3. Hatem had saved his document before viruses his computer.(crash) »2012(W)
4. Theplane ...................... a few minutes ago. (land) »2012(S)
5. After we had finished our dinner, we ................ into the garden. (go) » 2013 (W)
6. Sultan ............... abook of mine yesterday. (borrow) » 2013 (S)
7. The documentary film was interesting thus | it so much.(enjoy) » 2014 (W)

8- Maher felt nervous because he in the Dead Sea before. (swim)
/ M.O.E, 2011 (S)

9 - Hassan’s parents bought him a bicycle after he good marks in his exams. (get)
IM.O.E, 2014 (S)

10- Amer slept deeply last night after he five hundred kilometers without

a break. (drive)

Model Answers:

1- retired 2- finished  3- crashed 4- landed 5- went 6- borrowed 7- enjoyed

8- had /swum 9-had got  10- had driven

Lﬁ)\j\g atind

1-Nour ...............eee....o@n essay all morning. (e, write) » 2011(W)
2- Hatem looks tired. He his science project all night. (be, do) » 2011(S)

3- The detectives people all week. (be, interview) » 2012 (W)
4- The child has all night. (be, sleep) » 2012 (S)
5- Jamal and Fawaz have evening classes for a few weeks now. (be, take)
» 2013 (W)
6- Fadia has to be a nurse since 2010. (be, train) » 2013 (S)
7- Hassan looks very pale. He has very well recently. (not, be , sleep)
> 2014 (W)

8- How nice to sit down! I’ve .... for three hours non-stop. (be , walk) » 2015 (W)
MAsem: | think the waiter has forgotten us. We (1) (be, wait) here for over half an hour
and nobody (2) (take) our order yet.
Salma: I think you’re right. He has been walking by us at least twenty times. He probably thinks we
already ............. . (order) » 2015 (S)
Model Answers:

1. has been writing 2. has been doing 3. have been interviewing 4. been sleeping
5. been taking 6. been training 7. not been sleeping 8. been walking

Ao My A8ial) 5 gal)
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Derivation
GEEY Gllilde )

ol gall o) g8 + (3aY) aa) Joand) Bia e & Y Baad) baalll o GUESEY) J) e Jad
verb noun adjective adverb Meaning

activity/act active actively s dalii- el
chaos chaotic chaotically -t L

.

destroy /destruct destruction destructive/destroyed destructively | _ede- jaedi- jon
develop development developed

disaster disastrous disastrously

earning
economize economy economic/al economically

guilt guilty guiltily - -
infection infectious infectiously | saze-(5 s3c-(52n3
innocence innocent innocently s smosl
law legal legally (A 5B
violence violent violently e
permanence permanent permanently 2 -4a gan
majority major () ¢ Aplle

1. The Noun

ray) p8) ga
M Seld éu.N\ ég m
Chaos is unacceptable in all cases.
*Rule:S+V +0

A Vpde sl m
We all should fight violence.

*Rule:S+V +0

rddial) day adiiey g
Criminals should be punished harshly by strict laws.

* Rule: adj. + n /// adj. + (and / or) adj. + n

L ll) 4B 5 a)
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:(from, of, in, on, with, without, at, (to), into, for ) Al g sy asdiey m
Our country has been turning from development to development.

* Rule : prep. + n
r(@fan ) xSl (Sl s (the) il 8141 day addioy m
Migrants help with the development of the Gulf countries.
*Rule:the,a,an+n
the + n + of

£1,8) 8 (ad]).) da auai Ll () 58 a5 310Y) G Jucad 13) ;408 gala *
The great economy of China is noticed.

* Rule : the ,a,an + adj + n

:(this, that, these, those) 3JLaY) slaul day aiicy m
No one accepts this chaos.

* Rule : this, that, ... + n
:(my, his, her, your, its, their, our, ('s / s")) 4Slall yilada 3, U 2} ardiy m
The criminal’s guilt should be proved before any legal action.
*Rule: 's,my, his,... + n
CladEal) g il ddaal) day addin @
(several, many, much, any, few, little, some, no, enough, another, other, one,
:(all, every, each,

The man has suffered from many infections.
* Rule : many, no , another, ... + n

H(AT pud d23) QS pal) o) (2 m
The rainforest destruction is ascribed to many reasons.

* Rule : n + n = a compound noun

2. The Adjective

ddall é\yx
) b Adal) (AU
The criminal’s guilt should be proved before any legal action.
* Rule : adj + n

Ao My A8ial) 5 gal)
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ALY JladY) aay dbal) aniiis
sound, seem, look, appear, become, get, taste, smell, feel, was / were found)

The boy became violent after he had watched that movie.

* Rule : become, feel , was/ were found ,... + adj

D) Dlad 68 Ladie (0 be) ) Jad s ddiall padid
The storm was terribly disastrous last night.

* Rule : be (main verb)+ (ly) + adj

3. The Verb
1 J2dl) a2 54
¢ (O) 9 () (Ara diad) 098 o Aay i (t0) 2 (baseform) Susall Jadl) adiicy m

o o () e ol
Online criminals try to destroy their victims’ computers.

* Rule : (not) to + BASEFORM (INFINITIVE)
:(modals) A:Sa) JadY) sy 3 ) Jadl) ariioy, m
(must, may, might, will, would, shall, should, can, could,...etc)

Everyone must act well in hard circumstances.
* Rule : MODALS + BASEFORM (INFINITIVE)

:(do, does, did) dacbual) Judyl 33 3 aall J2dll addiiey m
This disease doesn’t infect others. Don’t be afraid !

* Rule : do/ does / did (not) + BASEFORM (INFINITIVE)

rJe Ul ay Jady V) Alaad) i Y m
These viruses threaten our operating systems miserably.

*Rule: S+V+0

Alaad) Ay B el J28S 3 jaal) Jadl) ariion
Develop your language!

* Rule : V (baseform) + .... sl Jais

Loa M) AECal) 5 gal) 8
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4. The Adverb
H(Jad)) oY) a8l sa
() Aaaldy gty 9 8 sdilaa dlaal) Ay (A (Jlad)) il axdiey m
Economically, we should use public transport.
* Rule :

This website is legally distinguished.
* Rule : be (is,...) - ly + adj

15 e Alaal) 8 saxiall Jad)) 3 Jlad) ariiy m
Sami violently hit the man.

* Rule : - ly + transitive verb + O
13 dilia o ) Jail) 2o
The boy was behaving violently.

* Rule : intransitive verb + - ly
(4 Adand) ald g) Gania Jadl) oilS 13) 4y Jgriall 2y
Khaled has done the task chaotically.

*Rule: S+V+0O+ly

rJadl) o) el G m
It can be skillfully done without consulting a specialist.
* Rule : helping verb + ly + main verb

Q: Choose the suitable item from those given to complete each of the following sentences:
of the world’s migrants move to find a better life. (major)
2. Many people believe that the worst crimes are murder and other
(violence)
3. There would be a
(chaos / law)
4. He left court a free man because he had proved that he was
said he was not (innocence , guilt)
5. My weekly s are twice as much as they were last year. (earn)
6. A huge earthquake caused the of San Francisco in 1906. (destroy)
potato crops led to mass starvation in Ireland. (disaster)
8. The people of Tristan da Cunha left because of volcanic . (act)
success of the 1960s and 1970s was funded by oil. (economy)
10. These workers were able to find a better life and help with the

region. (develop)
Loty AL 5 gal) 9
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Answers:

e add T 4 aaali Jaadll Je Ay )5 g AL

1- Marwa takes an part in her school affairs. (act)

2- Storms cause the of most of the crops. (destroy) 2011

3- Unemployment is falling as more people to find ... work. (permanence) P 2011

4- The man was found , 50 he was sent to prison.  (guilt) » 2012

5- Good citizens help with the of their country.  (develop) » 2012

6- During the storm, the wind was blowing (violent) » 2013

7- The man was found of any crimes.(innocence) » 2013

8- The man’s was not proved and so he went free. (guilty) » 2014 (W)
9- Many wild animals can become if they are captures. (violence) »2014(W)

10- Lack of security will create situations in a society. (chaos) »2014(S)
11- The government encourages schemes for women to....money. (earnings) » 2014(S)

12- Dana was appointed in a financial company as being a brilliant
employee. (permanent) » 2015 (W)

13- People need to learn how to settle their arrangements without using

(violent) » 2015 (W)

14- (earnings , chaotic , major) » 2015 (S)
1. The loss of electricity caused throughout the city.
2. If you want people to trust you, you have to their trust.

ANSWERS:

1. active 2. destruction 3. permanent 4. guilty  5.development 6. violently

7.innocent 8. guilt 9. violent 10. chaotic 11.earn 12. permanently 13. violence

Ao My A8ial) 5 gal) Bgalll s
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Talking about wishes

Structure Usage
S+ wish + S+ V. 2 Regrets at present or in the future
(impossible conditions)
S + wish + S+ could+ Regrets or inability to change a situation.
baseform
S+ wish + S + would + Annoyance, criticism and complaints
baseform about other people's behaviours.

Examples:
1- 1 don’t have enough money to buy a Subaru Impreza car.
I wish | had more money to buy a Subaru Impreza car.
2- | can’t drive a lorry.
I wish I could drive a lorry.
3- It annoys me that he smokes in the room.
I wish he wouldn’t smoke in the room.
4- 1 didn’t have a tablet.
| wish | had had a tablet.

- Jal) el
a8 Y) gl o giib Agdia il 1)) Lal (AUSY Bale) aie Lgait e dlaall il 1) @
sale) aie (Wish) d=ill sl (could) dadll aadius s 4idia i (would like to) Jadl
Al
& sbadll e e sial Gl o(regret) sl (doesn't / don't) le Aasdl Cigial 13 @
(wish) Jadll alal (V.2) Tasedl) (oalall (e ) padiass laie ¢ale (S (V. 1) Lol
e.g.
| don't speak French.
| wish | spoke French.

AU sale) aie (could) Jedll aaiu Lild ¢(can't) Ao Adal) dleall gl 1)) @
e.g.
| can't carry that rock.
| wish I could carry that rock.

Jia @iy g of JEY) o oL Sl zle 3V e dule e Llal) daad) Cagial 13) @
5l e AlaY) dlaall il 13) (would) dadl) (wish) dadll alal aai Lilé (annoy) sl
Afie dleall 2SI (wouldn't)
e.g.
It annoys me that he sings aloud.
| wish he wouldn't sing aloud.

Ao My A8ial) 5 gal)
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Exercise:
1- I regret | don't obey my parents.

2- | can't quit my job.

3- It annoys me you don't respect your partner.

4- Sami can't come to the party.

5- I regret | don't study hard.

6- | always criticize people who talk a lot.

7- 1 complain about the neighbours who have dogs at home.

8- 1 would like to travel to Egypt.

9- | didn’t attend the event.

10- I'm bothered because you always make troubles.

11- |1 don’t have a trusted friend.

12- | regret 1 don’t have an electronic dictionary.

13- It annoys me you read aloud.

14- 1 am not old enough to go to university.

Ao My A8ial) 5 gal)




Clll) (g gimeal GRAMMAR ¢/ é B ) e

Model Answers:

1- 1 wish | obeyed my parents.

2- 1 wish | could quit my job.

3- 1 wish you would respect your partner.
4- | wish Sami could come to the party.
5- 1 wish | studied hard.

6- 1 wish people wouldn't talk a lot.

7- 1 wish the neighbours wouldn't have dogs at home.
8- lwish I could travel to Egypt.

9- [l wish I had attended the event.

10- 1 wish you wouldn't make troubles.
11- 1 wish I had a trusted friend.

12- 1 wish I had an electronic dictionary.
13- 1 wish you wouldn’t read aloud.

14- 1 wish | were older.

(Rt & 5is) 135 i

Q: Complete each of the following items so that the new item has a similar
meaning to the one before it.
1- 1 read slowly and would like to read more quickly.  »2011 (W)

2- | don't have my dictionary with me.

3- 1 don’t have the keys of my office.

4- | don't have an email.

5- I don't have many friends.

6- |1 don’t have a lot of books in my library.

7- 1 wish | any challenging experience in my life. (have) » 2014 (S)

8- 1 wish | where | left my valuable book. (can , remember)_» 2015 (W)

9- Read the following sentence and answer the question below. » 2015 (S)
I can’t eat anything with nuts in — | am allergic to them -

but I wish I could.
What is the function of using wish in the above sentence? (2 points)

Model Answers:

1- 1 wish | could read more quickly. 2- I wish | had my dictionary with me.

3- 1 wish I had the keys of my office. 4- I wish | had an email.

5- I wish | had many friends. 6- 1 wish | had a lot of books in my library.
7- had 8- could remember

9- To express regret about inability to change situations we don’t like.

Ao My A8ial) 5 gal) Bgalll s
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Linking words

(Linkers)
oy 11 <) gal

First: Linkers of reason: ) < g
» because / since / as + subject + VERB + complement

(©an s o) el Sy Jeldy Jad ) ALalS Al dlany auii () Cany AL Loyl 5 501 *
Alaadl daey gl dglay 8 b rlghlsa *
1- Muna studied hard because she wanted to get high marks.
2- 1 didn't go shopping since | was too tired.

» because of /due to + (noun "phrase")
1- Many people died because of desertification.
2- He is admired due to his success.
i dga s oa ) g tdad 050 and o) Apanl Aes A bty 5 ang QBN Gl )1

Ll 4 (of, to) sl
Aaadl oy 5 1 3 (ks LagiilSa *

Second: Linkers of result: Aol ol g

» so/and so /, with the result that / the cause of / lead to (led to)
1- Sami prepared well so he passed all his exams.

2- The volcano was the cause of the destruction of the town.

3- Global warming leads to serious problems.

4- Unfortunately, farmers tend to overcultivate their land, with the result
that the soil becomes unproductive. ;
() Aaldy 3us o) s (With the result that) Ll sl A ale @

Third: Linkers of purpose chagl) Jag) gy
» in order to / to /so as to + (baseform)

(J2dll (0 3 yae Aipay aii s Alaad) Jan g ol Ayl 8 a5 ) o2 (A 1LglSa
e.g.
1- He came early in order to watch the whole match.
2- Manal studied hard to pass her exams.
3- | phoned Ali so as to tell him the truth.

Ao My A8ial) 5 gal)
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® in order that / so that

:Jie (Modal Verbs) s Judls ¢ yisi 5 cdleall Ja g s gl & il 2 Lagilsa
can, may, will, shall (present) OR could, might, would, should (past)

e.g.
1- The soil is destroyed so that the land cannot be used for growing crops.

2- We stopped by a gas station in order that we could fuel the car.
Q1: Combine (Join) ...Use only ONE linking word.

1- Large areas of forest have been cut down . The soil is now dry and
dusty. (with the result that , in order to)

2- Salwa didn't go to university. She was ill. ('because |, so as to0)

3- Khalid attended the conference. He could get more knowledge about
his career. (inorder notto, so that)

4- Mazen went to the post office. He could buy stamps. (because , in order that)
5- You can serve your nation in the future. Learn well. (so that, in order not to)
6- | gave him a gift. He would behave himself. ( in order that , in order not to)

7- 1 didn't eat sugar and butter. | didn't want to be overweight. (because, so that)

Model Answers:

1- Large areas of forest have been cut down , with the result that the soil is
now dry and dusty.

2- Salwa didn’t go to university because she was ill .

3- Khalid attended the conference so that he could get more knowledge
about his career .

4- Mazen went to the post office in order that he could buy stamps

5- Learn well so that you can serve your nation in the future.

6- | gave him a gift in order that he would behave himself.

7- 1 didn't eat sugar and butter because | didn't want to be overweight.

Ao My A8ial) 5 gal) 15 Bgalll s
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(Asaa Ahla il i ) 4 ) 5 g Alici)

1- Marwa went to the post office. She could buy stamps. (so that)  » 2011(W)

2- We need to produce more food. There are more people to feed.
(because) » 2011(S)

3- People write notes in their diaries. They don’t want to forget important
things. (because) P 2012 (W)

4- Ahmad came to study in our country so that he could get a good
education. » 2013(W)
Ahmad came to study in our country in order to

5- Students use mobile phones so that they can keep in touch with their families.
Students use mobile phones in order to » 2013(S)

6- You get the opportunity to meet students from other courses of study. Joining a
university club is a good idea. (because) » 2014(W)

7- You can identify your bags. Make sure your bags are marked. (so that)» 2014(W)

8- People can improve their life style. Many changes have taken place lately.

in order not to, with the result that » 2014 (S)

9- The manuscript was full of errors. The publisher rejected the author’s latest work.

> 2014 (S)

because , inorder notto

11- Hamad has long been interested in science and animals. Hamad has decided to
study biology in collage. (in order not to, because) » 2015 (W)

12- Kareem can not put up with his job for much longer. Kareem’s journey to work
gets worse every day. (with the result that , in order not to) » 2015 (W)

13- Recycling bins will be installed in the city. People will be able to dispose of their
waste. (in order not to , because) » 2015 (S)

14. Everyone develops at a different rate. Teens are advised not to compare
themselves with others. (because , in order to) » 2015 (
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Model Answers

. Marwa went to the post office so that she could buy stamps.
. We need to produce more food because there are more people to feed.
. People write notes in their diaries because they don’t want to forget
important things.
. Ahmad came to study in our country in order to get a good education.
. Students use mobile phones in order to keep in touch with their families.
. Joining a university club is a good idea because you get the opportunity to meet
students from other courses of study.
. Make sure your bags are marked so that you can identify your bags (them).
. Many changes have taken place lately , with the result that people can improve
their life style.
9. The publisher rejected the author’s latest work because the manuscript was
full of errors.
11. Hamad has decided to study biology in collage because he has long been
interested in science and animals.
12. Kareem’s journey to work gets worse every day , with the result that he can not
put up with his job for much longer.
13. People will be able to dispose of their waste because recycling bins will be
installed in the city.
14. Teens are advised not to compare themselves with others because everyone

develops at a different rate.

Ao My A8ial) 5 gal)




Ul 5 giasall

GRAMMAR 2168

b il (e

Modals for Speculation
(Explaining Possibilities)

Modals

Usage

Key words

must

It is sure that
something iIs true
(certainty)

sure, certain,
definite, surely,
certainly,
definitely,

of course,
,absolutely, no
doubt,
undoubtedly,
because.

It is sure that
something is NOT
true.

sure,
certain,...+
NOT(negative)
; impossible

Possibility
(Unsure / not sure
whether ... or ...)

possible,
probable,
possibly, likely,
probably,
unsure (not
sure), uncertain
(not certain),
perhaps, may
be, | think,
could be, don't
know, usually.

Rules

e V.1 — Modal + baseform (infinitive)

e V.2, has/have/had + V.3 —» Modal + have + V.3
e is /am/ are + V-ing — Modal + be + V-ing
ewas / were + V- ing — Modal + have + been + V-ing

Examples:

1- I'm sure that Ahmad is at school now.
Ahmad must be at school now.

2- It's probable that she came too late.
She might have come too late.
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3- I'm sure that Maher isn't playing online games at the moment.
Maher can't be playing online games at the moment.

4- It’s certain that Muna was writing an email.
Muna must have been writing an email.

Q2: Write sentences which explain the possibilities of the following statements
including the modal verb phrases in brackets in your answers.
1- I'm sure that methane is a dangerous gas. (must be)

Model Answers:

1.Methane ( It ) must be a dangerous gas.

2. It might have been Oxford Dictionary.
3.You can’t have been in the library yesterday.
4 Salwa must have studied hard for the exam.

paali baadll Jo dlgaa Aoyl g Adiu

1- Someone is ringing the doorbell. I'm sure it's my father- he always comes back
home at this time.

4- Salma has a very good English accent. I’m unsure whether she has lived with an
English family or not.

5- Emad has got the golden medal for his creative project. I'm sure that his parents
are proud of him.

6- The children are putting balloons outside house. I’m sure that they are
having a party.

7- The ground is wet here. That means this was almost certainly a lake once.
(must have) » 2014 (W)
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8- These people are very thin, that’s why I’m certain they haven’t eaten much food
(can’t have) » 2014 (W)

must have , can’t have , might have » 2014 (S), 9 + 10

9- Ahmad’s class starts at 8:30. It is 8: 45 and he is not here yet. | am unsure
whether he has missed the bus or not.

10- Salma’s plants are dead. | am almost sure she hasn’t watered them.

11- Saleem has been sneezing and coughing a lot today. I am almost sure he has caught

» 2015 (W)

12- My white shirt has now green lines in it. | am almost sure | haven’t washed it

properly. » 2015 (W)

13- The twins have guilty expressions on their faces. | am almost sure they have
done something naughty. » 2015 (S)

14- Rakan spent a month in a hospital before he was able to walk. I am almost
sure that it wasn’t an easy situation for him. » 2015 (S)

must have, might have, can’t have

Model Answers:

. It must be my father.

. Rashed must be exhausted.

. Reptiles can’t be birds.

. Salma might have lived with an English family.

. Emad’s parents must be proud of him.

. They must be having a party.

. The ground must have been a lake once. (- the ground is wet here.)
. These people (they) can’t have eaten much food lately.(-they are very thin.)
. Ahmad might have missed the bus.

10. Salma can’t have watered her plants (them).

11. Saleem must have caught a cold.

12. I can’t have washed it properly.

13. The twins (they) must have done something naughty.

14. It can’t have been an easy situation for him.

OO ~NO OIS, WN PR

Ao My A8ial) 5 gal)




) g gimsall GRAMMAR 3=/ ¢ 5 il (ulaa

Language Functions
(Useful Language)

Talking about past events
e (Then) one day, I ...
e | was about to ( go into the park to play football, when ...)
e Two months/ Ten minutes / Three days later, we ...
e The first thing that struck me was ...
e That was seven years ago.

Remembering a past event
e I can remember it very clearly.
e I’ll never forget that day / how I felt that day.
e I remember thinking / feeling ...

Time expressions
e We arrived on (day) at (time).
e The next day ... That same day / evening ...
® The first thing we / | did / saw was ...

Expressing opinions
e | think that ... /| believe that
o It felt like ...
e In my opinion / view,, ...
e For me, the best / worst thing was ...
e What surprised me was ...
e I didn’t know what to expect.

Presenting arguments
e It might be a better idea to ...
e Would it be a good idea to ... ?
e The main argument against ...

Agreeing
o | agree.
® Yes, you’re right!

Disagreeing
o [ disagree.
e [ don’t agree.
+ 1 don’t think so!
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1. Complete the following mini-dialogue using an expression that

presents an argument. »2014 (W); L. 3 & 4

Marwan: Traffic is an increasing problem in most big cities of the
world therefore, governments should encourage people to
use public transport.

2. Complete the following mini-dialogue using an expression that
shows agreeing.
Maha: It might be a good idea to take a first-aid Kit during our journey
across the desert.

3. Complete the following mini-dialogue below using an expression

that expresses an opinion. » 2014 (S)
Marwan: What do you think are the advantages of studying abroad?
Rashed: . What about you?

4. Rashed: Are there any disadvantages of using the internet? » 2015 (W)
Marwan: | believe that hackers can create viruses that can get into
personal computers and ruin valuable data.
What is the function of Marwan’s response? ..............c.........

5. Read the following sentence and answer the question below. » 2015 (S)
| can’t eat anything with nuts in — | am allergic to them -
but I wish I could.
What is the function of using wish in the above sentence? (2 points)

ANSWERS: (OPEN)
1. Rashed: It might be a better idea to build subways instead of forcing people to
use public transport.
2. Adnan: Yes, | agree.
3. Rashed: I think that studying abroad lets us know about other
cultures and depend on ourselves. What about you?
4. Expressing opinions
5. To express regret about inability to change situations we don’t like.
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V.1

V.2

V.3

ol

V.1

V.2

V.3

become

became

become

mean

meant

meant

begin

began

begun

meet

met

met

bite

bit

bitten

pay

paid

paid

break

broke

broken

put

put

put

bring

brought

brought

read

read

read

build

built

built

ride

rode

ridden

buy

bought

bought

ring

rang

rung

catch

caught

caught

rise

rose

risen

choose

chose

chosen

run

ran

run

come

came

come

See

Saw

seen

cost

cost

cost

seek

sought

sought

cut

cut

cut

sell

sold

sold

.
(,.E
M ed
Al

draw

drew

drawn

send

sent

sent

3
<

drink

drank

drunk

oL
Al

set

set

set

drive

drove

driven

shake

shook

shaken

eat

ate

eaten

shine

shone

shone

15 ¥}

fall

fell

fallen

shoot

shot

shot

&
B

feed

fed

fed

shut

shut

shut

feel

felt

felt

FEEES

sing

sang

sung

‘% %"
-

. .
% %

fight

fought

fought

=S
F

sink

sank

sunk

&
.

find

found

found

Sit

sat

sat

fly

flew

flown

smell

smelt

smelt

1

forget

forgot

forgotten

?E.f&:ﬁ

speak

spoke

spoken

%

[+

forgive

forgave

forgiven

T
3

spend

spent

spent

freeze

froze

frozen

spread

spread

spread

get

got

got

stand

stood

stood

v d
o Ea
+| Er N
3 . %
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give

gave

given

steal

stole

stolen

i

go

went

gone

L

strike

struck

struck

L
}.

grow

grew

grown

swim

swam

swum

hide

hid

hidden

A
.&.

take

took

taken

hold

held

held

teach

taught

taught

¥ EF

hurt

hurt

hurt

tear

tore

torn

Cor
‘| ¥

keep

kept

kept

tell

told

told

know

knew

known

think

thought

thought

lead

led

led

throw

threw

thrown

leave

left

left

understand

understood

understood

lend

lent

lent

wake

woke

woken

let

let

let

wear

wore

worn

light

lit

lit

Win

won

won

lose

lost

lost

write

wrote

written

make

made

made

Jes

hit

hit

hit

et
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